
SK2821,     Rev. -      12/10/14 Model: TG14, 14” Sandwich Grill

Some items are included for illustrative 
purposes only and in certain instances 
may not be available.

2

1

2

11

3 1

5

9

1213
14

15

16

17

18

19

20

21

9

22

19

23

24

15

25

26

15

27

28
29

30

31
32

33
34

15
35

36

37

38

22
4243

44
45

48

49

50

4647

39
40

41

10

6
7

8

4

2M
-Z

19
32

9 
To

as
tm

as
te

r T
G

14
 S

an
dw

ic
h 

G
ri

lls



PARTS LIST								       December 10, 2014, Rev. -

14' TWO SIDED GRILLS

Model: TG14 Series Sandwich Grill
Fig. No. Part Number Quantity Description Application

1 2C-40637 6 NUT 1/4-20 ACORN CAP MS S

2 2C-Z2992 6 BOLT 1/4-20X1 PHP STL NP

3
2B-Z2987

2
ARM - 14” TG14-IS, TG14IG

2B-Z3336 14” GR14SPT ARM TG14-AG, TG14-AS

4 2C-Z3200 2 PIN - TOP HOUSING

5 2E-Z2898 1 CONDUIT ASSY. - PTFE

6 2C-Z3917 2 RIVET, POP, .188 (AD66BS)

7 2C-Z3780 2 RETAINER, CONDUIT

8 2A-Z3827 1 PLATE,STAMPING - CONDUIT

9 2C-Z5883 8 10-24 X 1/2 FZA SCREW

10 D9-Z4849 1 HOUSING - TOP - 14”

11 2V-Z2989 1 HANDLE- 14”

12 B9-04-WB-0046 1 CLAMP WIRE SUPPORT

13 2C-Y1451 2 RIVET 1/8 x .337 MORISON

14 D9-Z13012 1 WIRE MOUNT

15 2C-Z2893 12 NUT 10-24 HEX STL ZP

16 D9-Z13099 2 BRACKET, INSLUATION

17 D9-Z2075 1 TOP ELEMENT/INS. PLATE/14

18
2N-Z1980

1
ELEMENT,800WATT 120V-14T 120V

2N-Z2391 ELEMENT 1800WATT 240V-14T 240V

19 2C-08-07-0285 8 SCREW 10-24X3/4X3/8 TYPE

20

2F-Z1946

1

CASTING,GR. TOP, ALUM.-14” TG14-AG

2F-Z1948 CASTING, SM.TOP,IRON-14 TG14-IS

2F-Z1950 CASTING,GR.TOP, IRON-14” TG14-IG

2F-Z7786 TOP CASTING, SM, AL.-14” TG14-AS

21

2F-Z11953

1

BOT. CAST.SMOOTH 14 ALUM. TG14-AS

2F-Z11954 BOT. CAST GROOVED 14 ALUM TG14-AG

2F-Z1949 CASTING,SM. BOT.,IRON-14” TG14-IS

2F-Z1951 CASTING, GR. BOT.,IRON-14” TG14-IG

22 2T-6447 1 THERMOSTAT 118V-236V

23
2N-Z1981

1
ELEMENT,1000WATT 120V-14B 120V

2N-Z2392 ELEMENT 1800WATT 240V-14B 240V

24 D9-Z13338 1 ELEMENT & INSULATION PLT

25 D9-Z2888 2 INSULATION - 14”

26 D9-Z12885 2 INSULATION HOLD DOWN,

27
2K-Y3240

1
BUSHING - STRAIN RELIEF 120V

2K-Y6764 BUSHING - STRAIN RELIEF 240V

28 2A-Z11501 4 FOOT 1” SOLID RUBBER TG14-AG, TG14-AS

29 2C-6349 8 SCREW #8X3/8 B THP STL NP

30 D9-GR0525 1 BASE/GRS CAB/CORD PLT ASM

31 2C-1522 4 SCREW 1/4-20X.5 STL R.H.

32 D9-Z3071 4 BRACKET - HANDLE

33 2V-Z3072 2 HANDLE-SIDE

2M
-Z

19
32

9 
To

as
tm

as
te

r T
G

14
 S

an
dw

ic
h 

G
ri

lls



Model: TG14 Series Sandwich Grill
Fig. No. Part Number Quantity Description Application

34 2C-1512 8 SCREW 10-24X3/8 RHP STL

35 2C-08-07-0262 4 WASHER, SS 1/4 INT-LOCK

36 2C-Z2593 4 10-24x1 1/2 SL HX/W NP

37
2R-Z1951

1
CASTING, GR. BOT., IRON-14” TG14-IG, TG14-IS

2R-Z2897 COUNTER BALANCE/14”/ALUM. TG14-AG, TG14-AS

38 2E-Z2894 1 TERMINAL BLOCK (304)

38 D9-GR0156 1 REAR PLATE ASSY.

40 2C-Z2594 2 NUT 6-32 HEX W STL NP

41 2C-Z3447 4 NUT 8-32 HEX W SS

42 2C-1488 2 SCREW 6-32X3/8 RHP STL NP

43 2I-Z3379 1 GROMMET-THERMOSTAT

44 2I-Z3380 2 THERMOSTAT SEAL WASHER

45 2M-Z19183 1 LABEL - CONTROL PANEL TSG

46
2J-Y6689

1
PILOT LIGHT 120V 120V

2J-Z2329 PILOT LIGHT 240V

47 D9-GR0709 1 KNOB ASSY PRO-MAX 2.0

48 D9-GR0518 1 GREASE DRAWER ASSY

49 2A-Z12946 4 2.5” FOOT BASE, 1/4-20 TG14-IS, TG14IG

50 2A-Z19356 4 BASE, FOOT, NON-SKID TG14-IS, TG14IG

NI
2E-Z2905

1
CORD SJTO 12/3 NEMA 6-20P 240V

2E-Z2935 CORD SJTO 14/3 NEMA 5-15P 120V
NI 2E-Z4119 1 POWER CORD, 12/3, 5-20P 120C


